ULEmER (L) # = B &
Tay &S AP i A i AL & FEihif 5 &
1 1. i L35 7
56. 1:0; 1. i L5 7
20 1:0 1. i L5 7
c4 3.1 1:0.8 1. 601
C5 4.4 1:0.8 1. 601 7.0
C6 23.5 1:0.8 1. 601 37.6
c7 10.6 1:0.8 1. 601 17.0
c8 37.8 1:0.8 1. 601 60. 5
9 164. 8 1:0.8 1. 601 263. 8
a5t 385. 9 m2




OtEmER @E) o B A
PACVE k7 KV EIE = ESLE 1

SR1 254.9 1:0.8 1. 601 408. 1
SR2 132.2 1:0.8 1. 601 211.7
SR3 220.7 1:0.8 1. 601 353.3
SR4 4.5 1:0.8 1. 601 7.2
SR5 111.7 1:0.8 1. 601 178.8
SR6 2.3 1:0.8 1. 601 3.7
it 1,162.8 m2




YL AEmER (Es)

£ = B =+
Tuvy s &s IR i fE R & F e fi
HR1 142.5 1:0.8 1. 601 228. 1
HR2 27.0 1:0.8 1.601 43.2
=1 271.3 m2




...... BLAEER (L) ¥ & F " &
Tuvy s &s IR i fE R & F e Jli
B1 41.9 1:1.5 1.202 50. 4
=1 50. 4 m2




NO.

Bu#HEHES

fREssE

I R E

4000

| EE: a2 —b ock=18N/mm2 t=10cm
¥ 10mERRICRiER AR IOC &
Bt EEFEHEER t=10mm&T %

#%AnE#8 D10-200% 200 (10m24Y) 1=9800 x W=3800)

BB BAEO T v v—5 2 RC-30 t=10cm
¥ BREITHHSOBSICEIOIL

170v% L=10.00xW=4.00 = 40. Om2

40.0m25 Y

H _H M &t g = Bl E
a2 1)— k| ock=18N/mm2| 10.00x4.00x0. 10 m3 4.0
B INEY 10.00x0.10x2+4.00x0. 10 m2 2.4
#KAnE# [D10-200x200| 9.80x 3. 80 x 5. 6kg/m2 A=37. 2m2 kg 208. 5
Btk |[FEaE@ssE t=10] 4.00x0.10 m2 0.4




